EE 201 — HW 3-13 Name

In the circuit at right, you use a cheap multimeter to
measure the voltage between nodes a and . The
reading is 14 V. However, you suspect that the value
may not be correct because of the large resistances in
the circuit and your uncertainty regarding the effective
resistance of the meter. Use the measured result and
the Thevenin equivalent of the circuit to determine the
effective resistance of the voltmeter. How far off was
the meter from the correct value?
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Write your answers — and whatever work will fit — on this sheet. Staple any sheets with additional work behind.



